
310 THE  COM PLETE  FAS TENER LINE   "SINCE 1916"  © Copy right 2013, Au-ve-co Prod ucts Co.

Sec. 15   “6900” SE RIES QUIK-SE LECT II AS SORT MENTS

No. 6920
Black Tap ping Screws

24 Va ri et ies - 490 Pieces

Auveco
Part No. Size

Black Oxide Phillips Oval Head

12897 #4 x 1"
12796 #6 x 3/4"
10162 #8 x 1/2" w/ #6 HD
10164 #8 x 3/4" w/ #6 HD
10165 #8 x 3/4"
10166 #8 x 1" w/ #6 HD
10167 #8 x 1"

Black Ox ide Phillips Pan Head

11917 #6 x 1/2"
10180 #8 x 1/2"
10181 #8 x 3/4"
10182 #8 x 1"
12799 #8 x 1-1/2"
11921 #10 x 1/2"
11922 #10 x 3/4"
11923 #10 x 1"

Black E-Coat Phillips Flat Washer Head

12213 #8 x 1/2"
12214 #8 x 5/8"
12215 #8 x 3/4"
12216 #8 x 1"
12217 #8 x 1-1/4"
12218 #8 x 1-1/2"
12953 #10 x 3/4"
12954 #10 x 1"

Black Phos. Phillips Pan Head Semsâ

12820 #8 x 3/4"

No. 6923
Ex truded "U" Nuts

18 Va ri et ies - 125 Pieces

Auveco
Part No. Size

10048 #8-32 3/8" Hole/Edge
15677 #10-24 15/32" Hole/Edge
8359 1/4"-20 17/32" Hole/Edge

10051 1/4"-20 25/32" Hole/Edge
10053 5/16"-18 9/16" Hole/Edge
8814 5/16"-18 27/32" Hole/Edge

10054 3/8"-16 3/4" Hole/Edge
10055 3/8"-16 1-1/8" Hole/Edge
11625 M4-.7 13.5mm Hole/Edge
11626 M5-.8 15.8mm Hole/Edge
16846 M6-1.0 12mm Hole/Edge
16842 M6-1.0 13.5mm Hole/Edge
12669 M6-1.0 13.5mm Hole/Edge
12575 M6-1.0 19.5mm Hole/Edge
11628 M6.3-1.0 13.5mm Hole/Edge
11629 M8-1.25 14.5mm Hole/Edge
11630 M8-1.25 20mm Hole/Edge
11631 M10-1.5 19mm Hole/Edge

No. 6921
Teksâ Screws

18 Va ri et ies - 520 Pieces

Auveco
Part No. Size

Phillips Pan Head

9605 #8 x 1/2"
9606 #8 x 3/4"
9608 #10 x 3/4"

Hex Washer Head

9611 #8 x 1/2"
9612 #8 x 3/4"
9613 #10 x 1/2"
9615 #10 x 3/4"
9616 #10 x 1"

11911 #12 x 1"
11914 #14 x 1"

Spe cialty Screws

12095 #8 x 1/2"
15172 #8 x 1/2"
15774 #8 x 1/2"
17460 #8 x 3/4"
17650 #8 x 3/4"
18261 M4.2-1.41 x 16mm
15775 M4.2-1.41 x 20mm
19006 M4.2-1.41 x 25mm

No. 6929
Vac uum Caps

12 Va ri et ies - 332 Pieces

Auveco
Part No. Size

Rub ber Vac uum Caps

12209 Fits 1/8" O.D. Tube
4440 Fits 3/16" O.D. Tube
4439 Fits 1/4" O.D. Tube

19001 Fits 1/4" O.D. Tube
12907 Fits 5/16" O.D. Tube
19002 Fits 5/16" O.D. Tube
12210 Fits 3/8" O.D. Tube
12908 Fits 1/2" O.D. Tube

Vi nyl Vac uum Caps

18202 Fits 3/16" O.D. Tube
18203 Fits 1/4" O.D. Tube
18204 Fits 5/16" O.D. Tube
18205 Fits 3/8" O.D. Tube

No. 6924
Washer Lock Nuts,

Thread Cut ting Nuts,
Push-On Re tain ers &

Pushnut Bolt Re tain ers
24 Va ri et ies - 489 Pieces

Auveco
Part No. Size

Thread Cut ting Nuts

12253 5mm Stud Size
3403 1/8" Stud Size
3404 3/16" Stud Size
2896 3/16" Stud Size
2897 1/4" Stud Size
3405 1/4" Stud Size

10733 5/16" Stud Size

Washer Lock Nuts

2557 #10-24 1/2 OD
2558 #10-24 3/4 OD

Push-On Re tain ers
8863 1/8" Stud Size
8864 5/32" Stud Size
8865 3/16" Stud Size
8868 1/4" Stud Size
8869 5/16" Stud Size

10374 3/8" Stud Size

Pushnut Bolt Re tain ers

10086 1/4" Bolt Size
10087 5/16" Bolt Size
9297 3/8" Bolt Size
9299 1/2" Bolt Size

12122 M5-.8 Bolt Size
12123 M6-1.0 Bolt Size
12125 M8-1.25 Bolt Size
12127 M12-1.75 Bolt Size
14980 M14-2.0 Bolt Size

You Can Email

Your Suggestions

For New Assortments

To: mail@auveco.com.

We Welcome All

Your Suggestions


